231031.notebook October 31, 2023

Sketch the graph of a function that satisfies all of the given conditions.

f1(0) = F(2) =f(4) =0,
#18 Fllx Difx<Qor2<x<4,
f 0if0<x<2orx>4,

0if1l <x <3,
Oifx<lorx>3
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in interval notation.)

Suppose the derivative of a function fis f'(x) = (x + 1)*(x — 2)°(x — 7)°. On what interval is f increasing? (Enter your answer

F6) = (x\—i;‘(y""\{

= Tf smalles ole T
e e g

b
(x-P

Y ‘ —
'.'—o =0 '.‘—D

@9‘*\ =il 7 ;

1Y

"“x‘.— |'c KZD

yx® Fxe O
TR (0]
ex F x>° gy fx20
{
Y= o Fx=0 = .
'F (B3 . 'c e —8Y \f véd
-o% . %

£ ()= 6(oN=2
__al) = ©

£ )




231031.notebook October 31, 2023

ﬁ*- <iQy"|—Y _3X) —’

,(—VN
(\ﬁ;::x 3y )(mx r3x)
N Whex 20¥ 2~
asry HY
Qv‘+x—‘ik1' - _x
- (ae+x P« VG sx+ 3
X _ b ]
] ’-\‘"'(44— L) + 3x e\ 6 % F3%
¥ %
¥

Y. —

X
T e R

\ X —D 0 l 1

—

= = \(T.)—B -»+3
\4 14..;-2 -\'3

X #0

\
-

* y—» oo —7 lxl=X

g (@R e

Vo Al ad

(e o (& 720)
(R
: Gar o -3
auy X - Gx”

X
-/-’_—_ - P
m 3% \’V‘(Q-l—%() 3%
X

¥
— —_ :
- \ —3¥ ar— -3%
= vl A4 % -X %4

W

#*

x_),_-o_.:—b Y (O == \\,J=.-—><

X v _ . _ _L
TG R I e T B

(x&.o)




231031.notebook

October 31, 2023

2= CEEN(x- (125

/ =
ag 2 -G - (x-t—‘s) (-2
x H‘_’L_'o v.Aa.: x=-3% x=2
Aot = |Hslh$6“3 _
b - \*\L_,lq’ HlA— ’ ‘j—
—1 V¥ - \_“';;_55'
X — = \4
g_L'L\

Find a formula for a function f that satisfies the following conditions.

lim fix)=0, lim fx)=-%2,  f3)=0o,

x—=too
lim fix) = o, lim fx) = —eo,
X—=6 Xx—6
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